Snapper 15

Objectives

•
Find probabilities based on equally likely outcomes in simple contexts

•
Know that if the probability of an event is p, then the probability of it not occurring is (1 – p)

Fairground games (probability)
Suggested questions
1  Hex-a-Spin
      •
What is the probability of winning £5? … of winning more than £1?

2  Oct-a-Spin

      •         Complete the spinner so that the probability of winning less than £5 is 1/2 and less than £2 is 1/4. 
(You can use any of £1, £2, £5, £10.)
Is there more than one solution? 

  (All solutions have 1, 1, 2, 2, …, …, …, …)

         •
   What if the probability of getting £5 is 25% and getting more than £2 is 3/4? (All solutions have 5, 5, 10, 10, 10, 10, … , …)

          Suggestions for development

1
Design games to meet a range of criteria, as with Oct-a-Spin.

2
Use other contexts, such as dice, cards, coloured counters, names in a hat, …
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